| Circle groups of L+ flowers: 6

There are groups of in 6.
I T

| Can you comple‘[e the bar models and the calculations?

24 24 +4=__ A=

2. Can you complete the division questions?

b+ - 12 + 4 =__ L8 + L =
btlo 20+ - 6l
3. Can you fill in the blanks?
_+L =10 k=7
k-9 k=2

5 lthink these four problems can all be solved bg do'mg 12 + 4. Do you agree or dLsagree? V\/hg?

r 2
There are 12 bags of sweets with 4 | have 12 crayons and share them

sweets in each bag, equally between 4 people.

How many crayons does each person
How many sweets are there altogether? W many cray P
\ receive? )

A rollercoaster carriage holds 4 people. "| have 12 buns and | give 4 to my
How many carriages are needed for 12 brother.

people? _ How many do | have left?

| agr‘ee/ dLsagme because. ..




Jane says “There are some nuwmbers that are in the l+ times table that are not
in the 2 times table’

Do you agree or disagree with Jane? Whay?

Explavin your answer-

Five children are playing a game. Theuy scorelr poinis for emerybucket they knock down.

Ben 6
James 28

=g S —
g uu-u-u Amrit 1?
0,00 i o

| How many buckets did U/wj krock down each?
2 How many buckets did U/wj krock down Mgeﬂnﬁr?
3 How many more buckets did Jaumes knock down than Ben?




